Section 5-3  Other Composite Argument Properties

even functions

f(=x) = f(x)
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even function
cos(—x) = cosx

sin(—x) =

Odd functions
f(=x)=—f(x)
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odd function
—sinx

SEC( x) = secx csc(=x) = —cscx
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odd function

tan(—x) = —tanx
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cot(-x) = —cotx

**S0 cosine and its reciprocal, secant, are the only EVEN functions, rest of them are odd!
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cofunction properties

cos @ = sin(90 — 6) s
sind = cos(90 — )

tan @ = cot(90 — ) c

cotf = tan(90 — 6)

sec8 = csc(90 — 6)
csc 6 = sec(90 — 6) 37

Proof:
sin @ = cos(90° — 8)
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Ofher Composite  Arguments
(s (A-B)= (sAwS® + SinAsnB
oS (A + B) = ccSAcSD —-snAsin®
sin (A-B) = sinAcsB —cosASIn B
an (A + Es‘) = gnAcesB TS AsinD
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Proof:
sin(@ + 30) + cos(8 + 60) = cosb
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Use the composite argument properties to solve the equation. o Jrhc s Elaes”
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